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Note : This paper is of sixty (60) marks containing three
(3) sections A, B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.
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Section—-A / Gvs—h

(Long Answer Type Questions) / (€T SR T%)

Note : Section ‘A’ contains four (04) long answer type
questions of fifteen (15) marks each. Learners are
required to answer two (02) questions only.
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What kind of reasoning is involved in judicial
process ? Explain.

P @I fbd TR W ARG ufshar & onfier fhar S
g ? THesy |

The Legal Aid is not a matter of charity but it can be
claimed a matter of right. Explain.

foftrs werar Ta wRa () T8 %, afig 39w
ARBR & HY ¥ AT S FhdT 2 | AT PR |

What do you understand by inner morality of law ?

fafy @ smaRe Afdwdr & My a7 g9 & ?

Discuss the concept of accountability of judges.

T B Al D AR Bl AR |
Section-B / Yvs—Y

(Short Answer Type Questions) / (75 ITRIF U%)

Note : Section ‘B’ contains eight (08) short answer type

qre :

A-40

questions of five (05) marks each. Learners are
required to answer four (04) questions only.
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Why will judge always create law ? Discuss.

AT S AT R SO ? T4t B |

Write an essay on Judicial Process and Social Ordering
in India.
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Explain the limits of the precedents.

u Fofa @1 < @ R ¥ e

Explain judicial review and law making.
Ay AR AR B T D UlhaT DI AR
I |

What do you understand by Judicial Restraint ?

IR% FIT RAT A AT T TH & 7

Provisions of directive principles contemplate a
welfare state. Explain.

I G A S @ TF AG HATHRN I9d D
BT IR | TS |

Write an essay on the rise of judicial power.

IR ufdd & fIeg W Rawer foRau |

What do you understand by the principles of natural
justice ?

e = & Rigrd 9 37 |1 99 § 2

Section-C / Yvs—TT

(Objective Type Questions) / (G Je-)

Note : Section ‘C’ contains ten (10) objective type

questions of one (01) mark each. All the questions
of this section are compulsory.
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Delay in taking decision on death penalty under its
pardoning power on the death penalty has been a
subject-matter of judicial decision of the Supreme
Courtin :

(a) State of Maharashtra v. Mohd. Ajmal Kasab
(b) Union of India vs. Sajjan Kumar
() NCT of Delhi vs. Navjot Sandhu

(d) Devender Pal Singh Bhullar vs. State of NCT of
Delhi

IRA & IUfd gRT ST &1 o’ @l Jfad @
JRUS & HMel H AT BR fAwyd Mo o § og
ST XE ¥ Jeaaqd el o fhw =iiie faftemy 4§

79 fava-avg i ?

(31) WERTE IS M Al I HAd

(@) 9RT 9 F9H oo FAR

(@) focel e &5 99M ool 9

(8) <X uidl Rig Yook 9 flcell roieml &
NI

Uniform Civil Code has been provided in Constitution
of India under :

(a) Article 43
(b) Article 44
(c) Article 45
(d) Article 46
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R @ S # 99 ANRG Gfedr &1 yrau fbar
T
(37) orfwT 43 ¥
@) orfwos 44 ¥
(@) o 45 4
() orgeT 46 ¥

When was the Protection of Children from Sexual
Offences Act was enacted in ?

(a) 2005

(b) 2010

(c) 2012

(d) 2013

qIeTep] BT A STURTE A&V SRR dg wIRa g3 ?
(31) 2005 #

@ 2010 #

(@) 2012 #

(@) 2013 #

Doctrine of Eclipse is related with :
(@) Article 12
(b) Article 13
(c) Article 14
(d) Article 16

P.T.O.
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3TesTe &7 Rierd R ¢ -

(1) orfwT 12 9
(@) orfwT 13 9
(@) orwT 14 ¥
(8) orTwT 16 W

5. ‘A fact in personal knowledge of the Judge cannot be
taken in evidence.” In which case this has been held ?

(@) Har Prasad. vs. Shiv Dayal, 1852

(b) Kashmira Singh vs. State, of M. P. 1952

(c) Virendra Kumar Ghosh vs. Emperor, 1910

(d) Pushpa Devi Ramjatiya vs. M. L. Wadhva, 1987
T {6l T & e I @ e & w9 H
& o \dar 2’ I8 oy fe arg # femr mar g ?

(@) = y¥IE 9 19 391, 1852

(@) @R RiE M 1. 9. T, 1952

(@) A= HAR 9IY §9M TRRR, 1910

() g <d) RMIfaaT g9 TH. Uel. aTeT, 1987

6. Which Article of the constitution declares Supreme
Court Court of record ?

(d) 127
(b) 129
(c) 128
(d) 130

A-40



A-40

[7] LM—-1007

A $T S AT s Iedad ARITerd Bl e
BT IR TN Hear & 7

(a1) 127

(@ 129

(|) 128

(2) 130

In which case the Supreme Court observed that CBI is
a ‘Caged Parrot’ ?

(@) Railway Board Bribery case

(b) Vineet Narain vs. Union of India
(c) 2G Spectrum scam case

(d) Coal-Gate scam case

STaqH TATe F fhsd Ael # U o iy Srwyy
IRaT U SR & drar § ?

(1) erd 96 Read wWe o

(@) foiid TREV 999 4R FY

(@) 25 WagH "ierd g

(8) SrgeT e HicleT arg

Law Day is celebrated in India on :
(@ April5

(b) November 26

(c) Mayl

(d) June5
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IRa ¥ fafer feaw s e €
(1) 5 arike @I
(@) 26 TaRR I
(|) 1% @l
@) 57

9. Article 25 of Constitution of India :
(@) Guarantees freedom of religion
(b) Prohibits freedom of religion

(c) Sponsor State religion
(d) Encouranges Hindu religion

WG WfAET &1 Ae0e 25 :

(1) enfifer Yadar @ gRMfT <T@
(8) enfie Tad=a BT e o 8
(@) T B e Bl FeE ?

(/) R ¥ @ Wefd &Rl &

10. The age of retirement of a High Court Judge is :
(@) 60 years
(b) 62 years
(c) 65years
(d) 70 years
ST AR & I & ol Hargiy #l oy 7
(31) 60 a%
@ 62 a9
(@) 65 au
(@) 70 ¥
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